
Addition two/three numbers up to 10000 #4

1) 3867 + 4969 =

2) 324 + 6579 + 9001 =

3) 8525 + 8792 + 5902 =

4) 4288 + 3512 + 420 =

5) 2700 + 5076 + 4745 =

6) 1420 + 9926 =

7) 7759 + 4587 + 1463 =

8) 118 + 4783 =

9) 9812 + 4721 + 7062 =

10) 2643 + 3821 =

11) 4594 + 8501 + 8759 =

12) 5617 + 2376 =

13) 3009 + 5829 + 7142 =

14) 9150 + 3255 =

15) 4546 + 9538 =

16) 4766 + 7520 =

17) 297 + 5288 + 4734 =

18) 1273 + 4807 + 3136 =

19) 4784 + 2235 =

20) 153 + 5952 + 733 =
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Addition two/three numbers up to 10000 #4 (Solutions)

1) 3867 + 4969 = 8836

2) 324 + 6579 + 9001 = 15904

3) 8525 + 8792 + 5902 = 23219

4) 4288 + 3512 + 420 = 8220

5) 2700 + 5076 + 4745 = 12521

6) 1420 + 9926 = 11346

7) 7759 + 4587 + 1463 = 13809

8) 118 + 4783 = 4901

9) 9812 + 4721 + 7062 = 21595

10) 2643 + 3821 = 6464

11) 4594 + 8501 + 8759 = 21854

12) 5617 + 2376 = 7993

13) 3009 + 5829 + 7142 = 15980

14) 9150 + 3255 = 12405

15) 4546 + 9538 = 14084

16) 4766 + 7520 = 12286

17) 297 + 5288 + 4734 = 10319

18) 1273 + 4807 + 3136 = 9216

19) 4784 + 2235 = 7019

20) 153 + 5952 + 733 = 6838
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